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2,500

H
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2H: BESXD
Hu: NUTHESH L 2H
Sl HEHHES YA CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
< 750
s 1,750
AFITHOH L KEel (Ar 2 E o S LA -2 X DIAH) 6,160 9,240 A 3,080
= 3,080
< 924
s 2,156
405 XHobF S HI 6,160 9,240 A 3,080
= 3,080
< 924
s 2,156
01 XY 2 ZFH S| 6,160 9,240 A 3,080
OOl ZLH e 2H I (8M) 6,160
= 3,080
< 924
[ia 2,156
HH2IZH (BE=X1) 114,780 106,745 8,035
Jl2Z3l 114,780 106,745 8,035
Jl2dtl(stZ 8 =) 44,280 42,245 2,035
201 LB-2E| 18,000 16,825 1,175
01 At 2t 2l 18,000 16,825 1,175
O2N2Y LBt H| 950,000& »12& 11,400
O2A2Y =2l 8,000& 33 254 6,600
202 Oddl 21,300 21,100 200
01 = LH YI 21,300 21,100 200
O=NM2g Kl 20,0003 x33Y x5 3,300
O=otl 20,0003 x6H «150 18,000
203 YR =] 4,980 4,320 660
04 ENSSHRF=LHI 4,980 4,320 660
ORA2EIRFAHI 415,000& x12& 4,980
Jl2dtl (e xsd) 25,500 25,500 0
202 O4dl 25,500 25,500 0
01 SLHAYI 25,500 25,500 0
O=2uUolbl
(20,0009 x12H x1502 )~ (10, 000& »7H x 150 ) 25,500
gy (#d 1) 12,000 9,000 3,000
202 o4dl 12,000 9,000 3,000
01 = LH o4 1l 12,000 9,000 3,000
O=aotl 20,0003 x4 «150 12,000
2zt (S &eld) 12,000 9,000 3,000
202 oddl 12,000 9,000 3,000
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SN BESXD
M HES AR (BY =D
chelr D123l
= - _ L=
SA BB O () - NRAY - HES il
01 = LH 4 bl 12,000 9,000
O=Wutl 20,000 x4 » 150 12,000
gyl (e xy 12,000 12,000
202 oddl 12,000 12,000
01 = LH o4 1l 12,000 12,000
O=2UdHHl 20,0003 x4 «150 12,000
l2dtl(dEes 9,000 9,000
202 odl 9,000 9,000
01 = LH o4 1l 9,000 9,000
O=0 bl 20,0003 x3H 150 9,000
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